Introduction to Arabic
Grammar

Lesson 10
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Words which are always marfu’ &le 58 yall

e 993331 - Words that are always marfoo®

There are eight words that are always in the state of 255 These are as follows:

1. et 2. Jeldl st 3. T 4. %= 5. Gisls o 5
6. @\3&%8@@ 7. 8. w;s&usjwp

P

Some of these have been discussed before.



Subject/Doer Jel&

:le1® — Subject/Doer

Definition: It is the doer of the action or of the meaning contained in the J=.

= The }¢& can either be a personal pronoun or an 2l 3% (i.e. visible in words after the

).



Subject/Doer Jel&

Jell Cos J.uj\ Jassl

If the s s Then the 22 will be Example
1. "’::i:/ E5%4 2als and there is | E58 A5 X PCOAF
no word between the lx3
and the *jsG.
2. Eign 5% and its singularity, | Gy QM - & kel

duality, or plurality will
be according to the
preceding ism that it
refers to.

Gad Slalasll -




Subject/Doer Jel&

R wOw

1£ a/ /0 .
dass &o%h alb and there is

a word between the ’}=¢ and

Il 8

PV

or <.y 4.>\3

e

PP EL A
or Caiss JA>Ig

rd

P A
or C.Ldjﬁ .L>/-\j

isle a3 I3
or

4~ < s /° 2 “
e 53 o

2 oé:.S‘/CIL or * o“:,s‘ :/ﬂ
jb—)‘ J6 or jb-)\ g_ASU




Subject/Doer Jel&

If the Js@ is Then the }»* will be Example
6. any b +| beside the A~)3 corresponding in O Lo - A Ll
above five categories gender JB)‘ L -

7. I Rl <34 and its singularity, e oLl — a3 é;Li/\
duality, or plurality will 13283 O3asd -
be according to the
preceding 2%l that it
refers to

8. s> that referes to{f&i = st = or E35 A 356 Jell or &ab Jussd

Z




Substitute of the Subject/Doer Jelall <l

J“‘w‘ - i‘i"\-@ (wf‘é 2 :\ﬁw — Substitute of s

Definition: It is an 3% which is the J¢G of a J3# J% (passive voice). The original el is

dropped and the « J3&s subsitutes it. This is why, it is called Jsl&) &56 (substitute of &) or
et 22 1 G J3aas (the J3a45 of such a %3 whose <G is not mentioned).

e.g. 3 s Zayd was helped. (The doer is not known/mentioned.)



Substitute of the Subject/Doer Jelall <l

The same sl — *lx usage rules apply as mentioned above

e.g. 1. & Sna

Rasle (‘JJ‘ e or e @Js 525

PrE) ) or Al &

Jsd cife or dsh o

jb'fn Cpeor I Oo or BN O
‘Jﬂj“ 3339@0-/\ or Lfb gu;@ii or uﬁ; ;.9@;\

35 dssfl or &4 Ji

NN WA e N



Substitute of the Subject/Doer Jelall <l

Sentence Analysis:

] > j): The door was opened.
ol e p
Jeld st J3e2 s



The Nouns of Those W and ¥ Which are Similar to (e

(e gl M9 B 41 — Tom of those B and ¥ which are similar to

* Tt means that G and Y have the same meaning and effect (}}s¢) as 2.

Z s “ ,g°< - . .
eg. WLAGL Zayd is not standing.
TRt No man is more virtuous than you.

~ (e Fe P . < 4
» Like ;, sometimes, an extra baa’ (531 :6) is added before the %%.

e.g. (& GlG [ am not a reader/I cannot read.

z =z -



The Nouns of Those W and ¥ Which are Similar to .

= The effect of G and Y is cancelled if any of the following occurs:
i. ~ When the %5 appears before the 32\,

e.g. 6L Zayd is not standing,.

ii.  The word Y] appears before the % negating the negative meaning of G and Y.

eg.  J¥sVIAEE G And Muhammad is not but a2 messenger./

And Muhammad is only a messenger.

[Allah bless him and give him peace]

o oo < T . * _ B2 o nCx
iii.  If the 3l and/or %5 of ¥ is not 553, (G can appear before a 4,25 or a 553)
e.g. oS Ay The city is not big.



The _»a of ¥ Which Negates an Entire o« (Class/Category)

) (&3 ) N ’75 — The 3% of that ¥ which negates an entire ‘w<> (category/class)

. Y gives its 32} a single fathah and its 75 a dammah when the 32} and the 75 are 5SS

e.g. MG HN No man is standing.



The _»a of ¥ Which Negates an Entire o« (Class/Category)

Different forms of the ism of ¥ and its i 7aab

If the 2! of ¥ is Then it will be Explanation Example
Lo | Gt or ot dis | Sl FRURPRYESENERN

There is no servant of
a man in the house.
pohs s el

No one who attempts
to do good is
blameworthy.

f//?; f/ < 3<° 1- B, 0~ @ o |2 1
There is no man in
the house.




The _»a of ¥ Which Negates an Entire o« (Class/Category)

:3J~ g3 - The Y has to be oae Vs 9\3\5\ 3 55y
repeated with Neither is Zayd in the
another % 23, house nor ‘Amr.

- The effect of ¥
is cancelled.

5 with a  word éj-}y - The Y has to be 2\,»* Vs 525 G ¥

between it and Y repeated. Neither is there a
_The effect ofY | man in it nor a
is cancelled. woman.

V and 55 repeated | Wik 55 Y5 Js Y

with no word | Lgxd 5 Y5 Jes ¥

between them

o Loy J3 A5
SO &5 J3V
BEFSSRINES

555 Y5 Jo= ¥
555 Y3 Jo= Y
555 Y5 Jo= ¥




The _»a of ¥ Which Negates an Entire o« (Class/Category)

Note: The %+ of ¥ may be omitted when the meaning is understood.
eg. LY i.e. e 6 Y There is no harm upon you. / No

problem.



